STRUCTURED PROBLEM SOLVING

Leader: Start Date:

[ A. Problem Statement (Use a 6W2H to Form a Proper Statement) :

I Implement a Short Term Fix (Until the Root Cause is Identified) Who Signature By Date Status

O  Action Taken: @

S¥

Status Legend: @ 1-ldentified @ 2-Implemented Q 3-Feedback . 4-Closed

O cutomer Needs:
O Product or Process Requirements:
O Technical Requirements:
O Defining Frequency: o __ Ueciirrence "Kate
Within this amount of time l: ]Hours We had this many 3 : =+ out of this many units | : x 100% = %
___________ L e e e e e = =

O D. Gemba "Go See" the process, track the problem upstream and identify where it is first caused. Use the space provided on back to sketch process / timeline.

0 Names:

O A. Using the fishbone diagram below, turn your problem statement (1.A.) into a question and write it within the head of the fish.
[0 B. Review the 6 major cause categories (the bones of the fish): People, Machine, Materials, Methods, Environment and Measurement

- C. Brainstorm and write in more specific cause ideas within each of the major cause fishbone categories. (see bottom of back page for ideas)

People Machine Materials

\ \
\ \
\ \ \

\ \ \ PROBLEM / DEFECT(S):

\ \ \ Why did 1.A. occur?

/ / /
/ / /

/ / /
Methods
(Standard Work) Environment Measurement

O D. Use "5 Why?" analysis to brainstorm root cause(s) of specific cause ideas being explored. (repeat as needed using space on back page)

Cause Idea: Cause Idea: Cause Idea:

< Why this? < Why this? < Why this?
Answer —> Answer —> Answer —>>

< Why this? < Why this? < Why this?
Answer —>> Answer —>> Answer —>>

< Why this? < Why this? < Why this?
Answer —> Answer —> Answer —>

~ Why this? i Why this? ~ Why this?
Answer —> Answer —>> Answer —>>

~ Why this? ~ Why this? ~ Why this?
- Verified - Verified - Verified

O Action Taken:

DD DDD

O vVerification Action: Team Leader:

s>
SP

Sponsor:



O verification Frequency:

Within this amount of time out of this many units

(circle proper unit)

0%

_____ === ===
Hours We had this many 1 : )
Days  Occurrences ! |

——— I

(opportunities)

Occurrence Rate

%

3
20%
10%

Defect
Rate %

0%

Initial ~ // 1 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Time Period (circled): Hours Shifts Days Weeks
Sketch the process and note observations (optional, as referenced on front page section 1.D)
<
S
2
(7))
7]
(7]
@
&)
o
Q.
Space for additional "5 Why?" Analysis (optional, continuing from front page section 4.D) :
Cause Idea: Cause Idea: Cause Idea:
< Why this? < Why this? < Why this?
Answer == Answer —> Answer —=>
< Why this? < Why this? < Why this?
Answer —>> Answer —>> Answer —>
— vy une: — vy une: vy une:
Answer —> Answer —> Answer —>
< Why this? < Why this? < Why this?
Answer —> Answer —> Answer —>>
< Why this? < Why this? < Why this?
Root Cause: Root Cause: Root Cause:
Verified Verified Verified
O veris T veris -
Cause Idea: Cause Idea: Cause Idea:
< Why this? < Why this? < Why this?
Answer == Answer —> Answer >
< Why this? < Why this? < Why this?
Answer —>> Answer —>> Answer —>>
— vy une: — vy une: — vy une:
Answer —> Answer —> Answer —>>
— vy une: — vy une: — vy une:
Answer —> Answer —>> Answer —>>
< < <
Why this? Why this? Why this?
Root Cause: Root Cause: Root Cause:
Verified Verified Verified
O O O
6. IDENTIFY ALTERNATIVES AND SELECT A SOLUTION for selected "Most-Likely" Causes (as referenced on front page section 5)
Root Cause Idea: Hiah Impact / Difficulty Matrix
LlPossible Solution #1: LlPossible Solution #2: 9
Pro's: Pro's: 10
9 . Only after left
Con's: Con's: 8 Main Focus quadrants
Area completed
7
Root Cause Idea: 6
LIPossible Solution #3: LIPossible Solution #4: 5
Pro's: Pro's:
4
Con's: Con's: 3 Just Do It! Avoid
o
L IPossible Solution #5: LIPossible Solution #6: g 2
Pro's: Pro's: § 1
- ~ low 1 2 3 4 5 6 7 8 9 10
Con's: Con's: .
Difficulty

More specific cause ideas listed below for reference when brainstorming (optional, as referenced on front page section 4.C) .
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